SplashLearn

Compare and Answer

Compare the information given in the word problems. Tick mark the correct
answers.

; Jill has 6 pairs of shoes. Rachel has 3 more pairs than Jill. Ella has more pairs than Jill but less than \
Rachel. How many pairs could Ella have? Tick all that apply.
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<D/Jake’s farm has 552 sunflowers. John’s farm has twice the number of sunflowers in Jake’s farm. Lau&

Laura have? Tick all that apply.
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®/Zoe has 54 stamps. Zendaya has four times the number of stamps Zoe has. Linda has more number h
stamps than Zoe and Zendaya both. How many stamps could Linda have? Tick all that apply.

048 o0 200 o 157 o 250

has more number of sunflowers in her farm than Jake but fewer than John. How many sunflowers could




